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Note: Time increases downwards.
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Scales OK for last curve (bottom black)

80
60

aQ

N

€ 40

=

2>

o

o

o

g

- 20

O

o
0
-20
0
-5

g

O

S~

=

2>

‘©

¢ 10

o

o

°
-15
3.0
2.5
2.0

condensation degree
(9]

0.5

0.0

6000

5000

4000

3000

Tges [K]

2000

1000

-_

T O O e T AU AU SRR

13.2 13.3 13.4 13.5 13.6 13.7
log r [em]

13.2 13.3 13.4 13.5 13.6 13.7
log r [em]

S OO e e e SR A R R R SRR N SRR

13.2 13.3 13.4 13.5 13.6 13.7
log r [em]

R e L L e

Bl e e o T

13.2 13.3 13.4 13.5 13.6 13.7
log r [em]



